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[bookmark: _gjdgxs]Introduction
This step-by-step guide will help you use the ROI Model when considering LOT Network membership (LOT Network Model.xlsx).
[bookmark: _30j0zll]Step 1 – Getting started
Open the Excel workbook containing the model. Review the cover sheet and cautions worksheets before proceeding. 
[bookmark: _1fob9te]Step 2 – Input your company’s specific information
Open the sheet “Inputs” and fill out all the orange colored cells in the “Input” column (8 in total).
[image: ]
· Step 2.1
Enter the name of your company in cell C4. The name is used to create a personalized report throughout the model.
· Step 2.2
Enter your annual revenue (in $M) in cell C5. This is used to determine what your LOT Network membership fee will be.
· Step 2.3
Enter your yearly number of received patent assertions that did not result in litigation in cell C8. If you receive less than one per year, the model accepts fractions (for example, if you only receive one assertion every three years, enter 0.33).
· Step 2.4
Enter how many of the assertions from Step 2.3 used corporate sourced patents (e.g., those patents that originated from operating companies) in cell D8.
· Step 2.5
Enter your yearly number of patent litigations in cell C9. 
· Step 2.6
Enter how many of the litigations from Step 2.5 involved corporate sourced patents in cell D9. 
· Step 2.7
Enter the number of patent sales deals (one deal can include multiple patents) you have or expect to have per year in cell C14. A deal is modeled at about 14 patents sold in a single deal. The sales price is set at around $1.3M.
· Step 2.8
Enter how many of the patent sales deals inserted in Step 2.7 are to NPEs in cell D14.
Notes on inputs:
· Fractional values are allowed as inputs. For example, if you generally sell patents only once every other year, a value of 0.5 is appropriate at step 2.7.
· Stable rate assumptions: The model assumes that your company's number of assertions, and litigations, is stable. If you expect your risk to decline, enter a lower number.
[bookmark: _3znysh7]Step 3 – View your results
To view the results, open the sheet “ROI Estimates”:
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1. The first section recaps the information you inputted in step 2.

2. The second section estimates ROI on a cash basis over 10 years. This metric does not consider the time value of money. Rather this approach adds up the savings and divides that by the total costs.

3. The third section estimates ROI on a net present value (NPV) basis over 10 years. This metric does consider the time value of money. The cost of capital being used can be adjusted in the Assumptions worksheet.

We provide 3 scenarios in order to help you understand a spectrum of potential value from LOT Network membership:
· The “Base ROI Scenario” is presented in column B.
· The “High ROI Scenario” is presented in column C. Compared to the base scenario, LOT Network growth and the NPE resolution costs for assertions and litigations are both assumed to be 50% higher.
· The “Low ROI Scenario” is presented in column D. Compared to the base scenario, LOT Network growth and the NPE resolution costs for assertions and litigations are both assumed to be 50% lower.




[bookmark: _2et92p0]Step 4 – ROI comparison
In addition to the results for your own company, an ROI Comparison worksheet is provided that allows you to compare your results to the results from seven example companies representing different industries. (Picture only shows two of the seven companies)
[image: ]
The results are divided into three categories:
1. The first section compares your estimated ROI on a cash basis over 10 years with that of the 7 example companies.
2. The second section compares your estimated ROI on an NPV basis over 10 years with that of the 7 example companies.
3. The third section recaps the inputs for your company and provides the inputs for the example companies.
Your results are presented in Column B, while the results of the example companies are presented alongside those for your company in columns C through I.


[bookmark: _tyjcwt]
Fine tuning the model – adjusting the assumptions 
The model is based on a number of assumptions that are common for a majority of companies. However, the model is flexible enough to allow customized assumptions to best suit your company’s needs. Should you like to make such customizations, you can follow these additional steps.
[bookmark: _3dy6vkm]Step 5 – General Modeling Parameters
The majority of the assumptions in the model can be customized on the Assumptions worksheet:
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All orange colored fields in this sheet are assumptions used by the model.
· Step 5.1
Enter the NPV of the average cost attributed to one NPE patent assertion in cell C2. The cost should include the current value of any legal fees, internal costs, and payments (max 10 years). Note, we have allowed for 10 years to cover ongoing payments, but most NPE payouts, where they occur, are one-time.

Note that these values are average costs across a number of assertions. For example, you may have some very low cost assertions (review a letter and take no action) and some higher cost assertions (respond and ultimately settle for money). The default of $100,000 is an average of these costs.

The Assertion Total Cost determines the amount of cost reduction from fewer NPE assertions. 
· Step 5.2
Enter the NPV of the average cost attributed to one NPE litigation (time period is 10 years) in cell C3. 

Note that these values are average costs across a number of litigations. For example, you may have some very low cost litigations (settled early in pretrial) and some higher cost assertions (went through appeals). The default of $1,000,000 is a blend of these costs.

The Litigation Total Cost determines the amount of cost reduction from fewer NPE litigations.
· Step 5.3
Enter the per typical number of patents in a corporate to corporate sale. We used a blended model of number of assets from ROL Group market data and comparison to studies ROL Group completed on actual sales. The estimated number of patents is 15 for 2016. Note, you should assume that about six to ten are US issued patents and a few pending applications, the rest are international patents and applications.
· Step 5.4
Enter the per patent sales price in corporate to corporate sales. We used a blended model of number of assets and asking price, discount to asking price, and comparison to studies ROL Group completed on actual sales. The estimated sales price is $100K US for 2016.
· Step 5.5
Enter the percent reduction in sales price to other corporations because of lot participation. Note, we believe that there is no impact on sales prices because of the LOT encumbrance, but the model allows you to change this to see the impact.
· Step 5.6
Enter the threshold level of LOT Network coverage where NPEs are unwilling to purchase a LOT network encumbered asset from a corporate seller. As a proxy for the market, the coverage of LOT Network’s percentage of in-force patents under the agreement is used. For the model, 30% LOT Network coverage is assumed to be the threshold at which NPEs will not buy the patents. This assumption is to help the model calculate the lost opportunity cost of potentially foregone sales to NPEs.
· Step 5.7
Enter your estimated inflation rate. This is used for inflation rates for LOT membership fees.
· Step 5.8
Enter your estimated cost of capital. This is used for the NPV-calculation.
· Step 5.9
Enter how many patents you think will be added to LOT Network each year (for years 1-4). This is used for the LOT Network growth rate calculations.
· Step 5.10
Enter how many patents you think will be added to LOT Network each year (for years 5-10) in cell C10. This is used for the LOT Network growth rate calculations.
· Step 5.11
Enter the starting point for LOT Network participation. This represents the total percentage of coverage of all in-force US patents. The initial value of 7.4% is based on the number of US issued patents in LOT Network as of April 1, 2017, compared with the total number of US issued patents in-force (approximately 185K/2,500K = 7.4%).

To customize the characteristics of patent sales (Number of Patents per Sale to NPE and Value from Each Patent Sold to NPE), follow the next step.




[bookmark: _1t3h5sf]Step 6 – NPE Sales Value
The value of a sale to an NPE can be customized in the NPE Sales Value worksheet. The purpose of this sheet is to capture the average transaction price of a corporate to NPE patent sale. Because there are a number of different scenarios and types of sales, the sheet is structured to allow those scenarios to be modeled and weighted. Specifically, we model a typical patent sale (~7 patents), a larger sale (50-100 patents), and privateering transactions. The inputs allow you to customize the frequency of each scenario and the associated dollar amounts. The result is a weighted average for a patent sale.
For further information about typical patent sales and the brokered patent market, our website has our 2015 brokered patent market report.
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· [bookmark: _4d34og8]Step 6.1
Enter what percent of all NPE sales are for privateering purposes.
· Step 6.2
Enter what percent of all NPE sales are of a larger kind.
· Step 6.3
Enter the average price of a typical sale to an NPE. Default value (backed by real-world data) is $700,000 (7 assets @ 100K/asset).
· Step 6.4
Enter the average number of assets sold in a typical sale to an NPE.
· Step 6.5
Enter the average price of a larger sale to an NPE in cell D12. Default value (backed by real-world data) is $3,000,000 (75 assets @ 40K/asset).
· [bookmark: _2s8eyo1]Step 6.6
Enter the average number of assets sold in a sale to an NPE in cell E12.
· Step 6.7
Enter the average price of a typical sale for privateering purposes in cell D13. We assume that this price is approximately 75% of your typical sales price to an NPE (cell D11).
· Step 6.8
Enter the number of assets sold in a sale for privateering purposes in cell E13. The default value, 7, is our assumption.
· Step 6.9
Enter the foregone additional revenue from privateering targets. This is the additional value the corporation expects to receive either from the privateer or from other strategic value. 
Additional Worksheets
There are additional worksheets not previously discussed: LOT Membership Fees is a sheet containing a matrix of the LOT Network fees, which can be used to compute the membership fee based on company revenues. There are also two intermediate sheets which are used for back-end calculations.
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